Ly = INSTRUCTIONS

TV il
MODEL : SUZUKI DL650 V-STROM 06-11
PRODUCT : ENGINE SPOILER
CODE: ES-SDL650/07-11

Plastic spoiler

4pcs. Support brackets

4pcs. M6x20 bolts

4pcs. M6 clip nuts
CONTENTS 4pcs. Rubber washers

1pc. M8x40 bolt

1pc. M6x40 bolt

1pc. 12x6-8mm spacer

The product's material, made of ABS plastic with acrylic exterior layer, can be placed on your bike

MATERIAL without requiring painting but if you want it painted, all paint companies have equivalent machinery
at their disposal. If you want to paint it yourself, you should contact them to inform you on what you
SPECIFICATIONS will need and how to do it.

Photo No 1

Placement
OUR COMPANY SUGGESTS THE INSTALLATION BE CARRIED OUT AT A WORKSHOP OR BY QUALIFIED STAFF
Clear the area surrounding the engine.
Put together the plastic parts and the support brackets as shown in Photos No 1 & 2 - Put the clip nuts on the support brackets.
Place the rubber washers on the engine spoiler’s holes.
Put the spoiler in position and make sure that the brackets are in the correct position.
Screw tight until you’ve reached the rubber washers.

For any further information please do not hesitate to contact us: Tel.: +30 2108075387 Email: tech@hld.gr



